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Part - I : Child Development and Pedagogy

An infant holds a toy initially using

his palmi;as he grows holds it with
fingers. The development principle
that explains this ....

(1) Development is predictable.

(2) Development is interrelated.

(3) Development proceeds in
cephalo caudal direction.

(4) Development proceeds from
general to specific.
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One of the following\ iz not \a
characteristic ol emutional
development during/dadolescence.

(1) Generalised exeitement.

(2)  Emotional iastahility.

(3) Fear and anXiely.

(4) Conblisien and dncertainty.
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A student studies hard to retain the
‘star’, awarded for her best
performance in cless_as-she/was
told by the teacher that she will
loose the star if her performance
decreases. The-scinfarcemernt that
is making the'student tosiady hard
P

(1) Negative reinforcement
(2) Positive reintorcément

(3) < Primary reinforcement
(4) /Punishment
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A class VIII student helped her
classmate in learning English. The
transfer of learning that has taken

place is ....

(1) Positive

(2)  Negative

(3) No transfer of learning
occured.

(4) Bilateral
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5.  One of the following is suggested by
NCF-2005, with regard to learning.
(1)  Learning -should take place

within the class room only.

(2) Students should be passive to
acquire the knowledge from
the teacher.

(3) Learning should be teacher
directive.

(4) Learning should be in the
wider social context.

3olmmds® ugpiut Bowelod, NCF-2005
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6. The physical factor that effects the
development of an individual.

(1} Temperature

(2) Food

(3) Hormones

(4) Light
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Heterogeneity of the class“room
shall be viewed by the/teacher-as
. -

(1) Source for learning.

(2) Hurdle for students’
adjustment.

(3) Need for segregation of
students1orclass vaedm
transaction.

(4) Burden {orteacher.
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A student of class V frequently
exhibits temper tantrum. This
indicates that the child has problem
relating to this domain.

(1) Cognitive

(2) Conative

(3) Affective

(4)  Psychomotor
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10.

A student who has not studied
properly, to cover his faults, blames
the teacher, saving that the teacher

has not taught properly, .... is an
example of this defense
mechanism.

(1) Projection

(2) Rationalisation

(3) Compensation

(4) Identification
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Students of eclass V could not
understand the lesson as it vas/not
organised sequentially.

The factor of learning that
effected the understanding of
students is ...

(1)
(2)
(3)
(4)

Personal.
Environmental.
Personal and Environmental.

Neither peérsonal nor
environmenta,
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According to Piaget th#ury, achild
attributing life to inanimatéabjecis
15

Bt EEdE

(1) Object permanence

(2)  Animism
(3)  Organisation
(4) Reversibility

4)

Tdentiiy the correct statement from
thefollowing :

(1) ~Teaching is an interactive

process, learning is a passive

process.

(2) Teaching is a passive process
learning is an interactive
process.

(3) Both teaching and learning

are interactive processes.

(4) Both teaching and learning

are passive processes.
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13. If all the high schools are provided | 15. As per the ‘social copstructivisiic
with sophisticated educational theory of learning’, the'reie of the
technology .... teacher in the class room isa/ an ...
(1) Teachers can be replaced (1)  Demonstrator

totally. (2) Instructor
(2) One teacher can handle all (3) Facilitator
classes. (4) Spectator
(3) Provision of ‘one teacher for ‘Dol JoerdE SWNERY koete’
one class’ is sufficient. Sms GO Noly s SRS
(4)  Teachers can not be replaced. (1) soos
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confused and indecisive. “\As® a
teacher you would .... {1:' Sipie 0 wite
(1) take decision for'him. (2)  ofme Siegione
(2) tell him to approach elders: (B)  wied® dis st
(3) provide him guidance\to take (4)  egped oonds Lex
appropriate decision,
(4) ask him to" follow" the | 17. As per Havighurst ‘Developmental
instructions-of teachers. tasks' are ....
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18. One of the following with regard to

19.

learning is more appropriate :

(1) emphasis on process and
memorization.

(2) emphasis on outcome and job
placement.

(3) emphasis on success in
examinations.

(4) emphasis on process and
outcome.
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The stage of cognitive development
enumerated by Bruner whizh s
characterized by ckald’s
representation of things andevents
in terms of non-verbal\ activities,
represents ....

(1)
(2)

Iconic representation stapge.
Enactive representation
stage.

Information representation
stage.

Symbol ¢ representation
stage,

(3)
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As per the Right of Childrer/tv Free
and Compulsory Edueation Act-
2009, the child has the fight to get
free education, if his-age is

between ....

(1) 3 - 12 years
(2) 4-13 vears
(3) 5-14 years
(4) 6 - 14 years

(15

3- 12 Sotnoe

(4)) j4-13 5ene.oven
(33X 5/14 s oud

(4) A 6-14 ot

To learn about the agricultural
practices a child meets farmers, the
resource he uses is ...

(1)  Self

(2) Home

(3)  Community

(4) Technology
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22.

To conduct a teaching learning
activity, the teacher has to follow
this sequence ....

(a) identification of suitable
strategies and methods.

(b) assessment of learners’
capacities.

(e) evaluation of learning and
replanning.

(d) identification of learning
experiences to be provided.
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(1) b,d,ac
(2) e, d.a,b
(3) a,b,c.d
(4) d,a,b,c

‘Over learning’ leads'to ...

(1) Increase iz zroficiency

(2) Decrease inlearming.
(3) Decreaséin memoary
(4) Causés disinterest.
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24, A Headmaster takes decisions al

7]

by himself, this type of leadzrship .

(1) Laizzer faire

(2} Democratic
(3) Permissive
(4) Autocratic

(1) £5uirs
(2) \ R
(3) ey
(4)) Zoesss

A teacher who is not well, wants to
vake” rest, but also thought of
attending the  school as
examinations are approaching. The

conflict that the teacher 1s
undergoing .....

(1) Approach - Approach

(2) Avoidance - Approach

(3) Avoidance - Avoidance

(4) Approach - Avoidance
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26.

One of the following should not be
done by the teacher while teaching
a lesson in the classroom.

(1) Using previous knowledge
and experiences.

(2) Use of appropriate method
and technology.

(3) Continuation of motivation
continuously.

(4) Teaching by giving more
importance to intelligents.

1cd I  adprcinis STy

Shoutes” SahErEDs.

(1) P, shedioeie
&3EPNcEo

(2)

(3) (Sbe=to Moslie Sadnsits.

(4) @ipboboots wQESEHBH

27. A teacher has developed 4 five point

scale to know the \students’
preferences towaeds digitail
teaching. The tool deveioped by the
teacher is .....

(1) Observation sheet

(2) Questionnairc

(8) Check list

(4) Rating scale
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30.
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Children remember the colours of
rainbow as ‘VIBGYOR', using._tiis
technique of memory.

(1)  Mnemonics

(2) Paired associated learning.

(3) Rehearsal

(4) Clustering
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All“other-abilities being normal,

based on 10 level, the children who
do pot fall under ‘Children With
Special Ileeds’ (CWSN) among the
following

(1) Thldren with IQ 0 - 20

(23/Children with IQ 30 - 50
(33—"Children with IQ 90 - 110

(4) Children with 1§ 130 and above.
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(3)  wmeped 90-110 a5 T g

(4) ".::.. o8 130 &35 Ne bow

According to KnhIhEr a child
shows respect for autﬁurtt}r and

follows the rules durin

(1) Pre conventional level
(2) Conventional level

(3) Post conventional level
(4) Inter conventional level
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(2) Sute, oo dEhiorts (25 dfgolnus

(3)  Sosston Xaurboly 3 Ghuass 5‘7‘-’-""7’5
4) Sosiven Rl (S LraTeamia
43- lWi :.',:1"'5 :5'-'3 I -ﬁ‘u e3hs q:uﬁ-""jE c:‘::" iﬁ:ﬂ:dﬂﬁJ :-l:-_fﬂ
% -
L ' P BP0 -

©
IIEJ;
%E

i

(3)

3
t

(4)

z

49, oY Jownd DR OUNALY T :P:‘.Sm‘i‘ 53 <
- -

- Wgbaoeks RSyt Hdad Kot - Gy
”—l‘!.:;"'" By R r‘.—- - Y 5

a ﬁ-.l.-.-.u... --'H-i:':- -5 P ] l'l:'.'ﬂ-l
() 4% (1) SEboch Fhes D 58 o

O ™ e & 3 r - s - -
WY ~o3S (2) f?..i;_.,ﬁ: P el 1.‘*...:-..-"‘.-‘ e L
- [ r

5 ) R Y. (3) &0l Limtoonts Hd No
(3 BAdan (4) Saros B&hos HANE Kom
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54. Teddy - 55 Dgile B 08. oIy Tuee Avvey ptortnian.
(1) mrecfvies men
(2) zodies oo’

{4.] - S ".."":b [3} b:f.‘r"!?l:ﬁ.n.:ﬁ:‘: L

55, Bwit T ol SRl cb BT Seb.

(1) e, 58 03 ol
D9. A5 uEtrm0d 0SS ADRSm
- (2)  Inol ol il =

(3) X o (N 8% Ol
(4) BI¥ ol earand ) Eazm

)

_ { (37 /535

56. bees D SaeEt i dunShonl hibé |
oL, (k) E;ES6 ¢

(1) 2 son soits wosd

(2) 3 Zon soios soad i

. 2 A= i
wf a L | - -
(3) sl iued 3 w3y,

(4) D don oaunss medd
(1) Sop=iX iaroretiten

'l} o . s B T
57. Gemdss sen SEn (2)  Sogiremt Sorerouin

(1) =jBssgseet (3) 500 Boedunn
(2)  Soetmiiogtosd (M) Shsmuem sarcsttis

(3) (SeisiBmsdinted

AN N s
{. s #w_laﬂrﬂrﬂ
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Part - 111 : English (Language - 11

(61-65) Read the passage carefully.
Child psychology is certainly not a
strong point with most Indian schools.
Why else would it inflict a double trauma
on a student faring badly in the pre-
hoards by banning her from taking the
exams 7 Often with total results as
evidenced by reports of student suicides
in the run-up to the board. Now the
Central Board of Secondary Education
(CBSE) has stepped in and put the
brakes on. This is good news for parents
and students, many of whom have had to
live with the threat of the performance -
linked department. "While the schools’
logic is that in order to attract talented
students, they need to maintain their
performance records at high levels, the
assumption that a student faring pootly
the pre-boards will replicate this at(the
hoards is faulty. Chances are/thab the
student will be spurred tovork doubly
hard. On the other hand, the threat of
the department will aimost\certaimnly
impact her/his performance.adversely. OfF
course, linking pre-boardsto.the hoards
is only one of the problems with\ gur
school system. :

Now answer the foulowing! questions
choosing the righ! ontiops

61. Choose/ fhé~wora—which is most
oppositc, in meaning of the word
‘spur as used in Lhe passage.

0l) “depress

(2) ‘enlargd

(O ackivate

svstam

TET-311-EM/TM

62.

63.

65.

[13]

Choose the word which is similarin
meaning to the word ‘replicate “as
used in the passage.

(1) enhance
(2) achieve
(3) perforpm
(4) repegt

Which is the good news for parents,
according to the passage ?

24/ Schools will take the
responsibiiity of preparing
students for the board. .
Schiools/will enforce discipline
to.ensure higher attendances
ol students. -

<o students can be barred
from the boards without prior
clearance from the CBSE.
Schools will provide study
facilities to the poor students.

Schools wanted to enforce

performance-linked department in
order to ....

Iy

5

(1) attract better quality
students,
(2) get regular grant-in-aid from

the eduecation department.
provide better study material
to the students.

make students aware that
they would aspire for their all
round development.

(3)

(4)

According to the passage parents
had to live with the threat of ....

(1) falling grades of their wards.
(2) linking performance of their
wards in pre-boards to the
boards.

not getting their wards
admitted in quality schools.
schools creating traumatic
situations for thenr wards.

(3)

i4)
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(66-70) The following passage has five | 71.
numbered blanks. For each blank,
four alternatives are given. Identify
the eorrect option for each blank.

Men who are always _(66) about
their poverty, complaining of their
difficulties, whining (67) their troubles,
and thinking that _(68) in this world is
mean and poor, _(69) never get any
happiness out of life or achieve

(70} success.

66. (1) muttering
(2) - mumbling
(3) grumbling-

(4} groaning 72.
67. (1) over:

(2) about

(3) with

(4) out
68. (1) alot

(2) lots

(3) overa lot

(4) their lot

73.

69. (1) would
(2)  will
(3) should
(4) “may

0. SX_ seme
(2) aN\_

(3 the

(4) “~=2ay
TET-311-EM/TM [14]
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= ==
Identify the complexsentence fiom
the following.

(1} We read books but they waich
T.V.

(2) If vou segrch TorNit 1 the
school, you will get'it,

(3) You go-there or-they will not
give rou.

(4) She is™=not /only good in

nglish but also good at
Maths.

He/woke up to hear the sound of
helle /.. in the distance.

Choose the right option to fill
inthe blank.

(1) clanging
(2) banging

(3) buzzing
(4)  whistling

Identify the phrase containing
Noun + Noun.

(1) strong light
(2) shed light -
(3) a light source
(4) aray of light
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74.

9.

6.

77.

78.

TET-211-EM/TM

(@) Amrita is getting married
next month.

Amrita will get married next
month.

Read the statements (@) and (b) and

choose the right option.

(b)

(1) only fa) is correct. -
(2) only (b) is correct.
(3) Both (a) and (b) are correct.

(4) Both (a) and (b) are incorrect.

When Padma stood first in class,

Rekha, out of jealousy, .....

(1) ate her heart out.

(2) lost her heart.

(3) poured out her heart.

(4) praised from the bottom of
her heart.

I expect to get a prize.

The underlined part of the
sentence is called a Noun phrase
because ...

(1} it is the object of thaeYyverb
‘expect’.

(2) it contains.a subject and.a
predicate.

(3) it qualifies the naun.

(4) it is independent.

Identify the corirect “\passive
sentence.

(1) A nice hodse’is had by them.

(2)
(3)

1 am nof fittesd by my shoes.
A Greek goddess is resembled
by Seivasl

The/furnituce was broken up
for firewood.

(4)

Thev ought te-De more sensible,

Chicose/the correct question
tag-to complete the sentence.

(13 oughtn’t they
v2) shouldn’t they -
3. musn’t they

(4)V can’t they

——— S

79.

80.

gL,

82.

[15]

Booklet Code [‘(_\J

Choose the appropriate ripiy to an
invitation.

(1) Sorry. I'm afraid I am not iree

(2) 1 was terriblv—sorry to hear
that.

(3) That's very kind of you. ~

(4) Thanks 1'Glove serie!

This man \on TV said that

dinosaurs

-------

Choose thz later part of the
sepience. which/is grammatically
correct.

(i) ybad “Peen  around

250 million years.

for

(2) “awepi about 250 million years.

(3) ,were around for 250 million
years.

(4) have been for 250 million
years,

One speaks / a strange dialect /
() (b)

where / I came from

(c) fd)

The sentence is divided into
four parts labelled as (a), (b), fc) and
(d). Identify the part of the
sentence which has an errvor

(1) - (a)
(2) (b)
(3) f(c)
4y (d)

John hates women. He s a ....

(1) misogynist
(2) polygot

(3) prodigy -
(4) mercenary
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83. Read the parts of a sentences | 86.
(a), (b), (e), (d) and (e), which are
jumbled.
fa) cashed on their internal rifts.

(b) entering these countries for
commercial gains.

(e) and ultimately became their
rulers.

(d) the British slowly stepped into
the internal politics of those | g
countries.

(e} and over a period of time,
gained total control.

Now identify the right order.

(1) (d), (b), (c), (a), (e)

(2) (a), (b),(d),(e), (c)

(3) (b), (d), (a), (e), (c)

(4) (b), (d), (c), (a), (e)

l 85,

84. Identify the ‘one word substitute’ )
from the following. i
(1) ride '

(2) participation

(3) successful “ |

(4) omnipresen

85. In the activity ,called \ ‘Seale |,
drawings’ used to develop speaking 9.
skills of students, ....

(1) One student passes ‘the
information #erbally to the
other from a“graph / puzture }
with a few-gaps and the other
tries to fili the oaps.

{2) One student produces a
diagram._ from/ xhe  other
studente’ “deseription on a | 90.
givan squabed paper..

(3) ¢/ The studenis guess what it is,
when-_tie” teacher draws
something indistinetly on the
blackbosrd.

(4)  The stadents draw the picture -
hased on the clues given by
the/teacher.

TET-311-EM/TM [16]
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Remedial teaching is 4.0
(1) nothing but re-teacking.

(2) something where achievement
1s expected to he very low.

(3) need not be highly specific and
need based.

(4) more like a'crash course.

’

One of the features of Reflective
teaching is ...

(1) Predicting

(20 ~Ciarifying

(3¥ ~Summarizing

4 r~Gathering new evidences.
Vislening to public speeches

belengs 1o ...
(1) +TFocussed listening

(23 Gist listening
\3) Appreciative listening
(4) Casual listening

Another term used for graphic
organizers in English Language
Teaching is

-------

(1) Information transfer
(2) Graphic Reading

(3) Almanacs

(4) Discourses.

One of the following helps us to get
a bird's eve view of the book.
[dentify it.

(1) dJacket

(2) Front page
(3) Blurb

(4) The preface
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91.

92.
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Al

Booklet Cnde

PART IV (b) : Social Studies - Content

Among the following, the correct
statement 1s ...

(1) 82°31' W longitude is taken as
Standard Meridian of India.

The Indian standard time is

5% hrs. ahead of Greenwich
mean time. :

(2)

(3) Greenwich mean time is

5% hrs. ahead of Indian
standard time.

The standard meridian of
India is passing through the
city of Ahmedabad.
G: [Fod RS 258D TEs.
(1) sruscsni 82°31
CE e Surds
SOReAG.

e F

. L B
POB0E PFULPHRY TolPNg) (e

(4)

W s&Es:8
CaroNein

(2)

i & 1 ,
rarE D3 0% fNowded\ ool
accocd.

s e oo prbnlds DAy

(3)
T3 5‘%‘ Notees Haooliy duced.
pprods ol Soydy uindeteenb
oo Dtocl,

(4)

The topography of the Peninsular
plateau is ....

(1)  Slighcly-tilting Loward East.

(2) Slightly tilting towards North
E4st.

(32 Slighily tiltipg towards South
West.

(457 Slightly Gilting towards West.

Of%e bugon 54 358 £om Tes 504 0.

(D ey dpd

2) vemgo Dl

(8] N\asfycion ipd

(4) “densed 3pd

93.

95.

[17]

The Dibang and Lohit are the
tributaries of this river

(1) The Ganges

(2) The Sindhu

(3) The Yarmina

(4) The Brehmaputia

Berch BoSaia SrE BT/ et
(1) /NG =0

(2) )iodsid

(3)  ciodags e

Ay pomB w0

It is €.10"2m at Chicago (87°30° W).
The local time of Sydney (151°E)
18

(1) —10.04 pm

12) 8.06 pm the previous day.
3} 8.06 pm
(4) 10.04 am

87°30" wn&Ho8 Tarcwod &3, ITRE
wssciee 6.10 am woxd 151° omisy
Sarciio Sond & ' 0 Ssciz

(1) 10.04 pm’

(2) 8.06 pm, wxsssts
(3} 8.06 pm

(4) 10.04 am

The most active volecano in the
world i1s ......
(1) Mount Vesuvious

(2) Stromboli
(3} Mount Kilmanjaro
(4} Fujivama

Shonod woh Dollelo™ & eiittibo

(1) =53a8 sodcn’ »
(2) 8%

(3) * =78 ET Ty
(4) BT
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96.

97.

TET-311-EM/TM

One of the following is not the
planetary winds.

(1) Trade winds
(2) Polar winds

(3) Monsoon winds
(4)  Westerlies

Te 208 IS ol Bures’ 9D
(1)
(2)
(3)

(4) =3 v

:-FEFG o o

One of the following statement is
not correct about coffee cultivation
in India.

(1) The coffee plants are growi
well in tropical and svk

tropical climates.

(2) India produces about’ A% -of

the world’s coff:e production.

The Arabica variety broughi
from Yemen s produced in the
country.

Coffee cultivation
introduced yon the
Budan hills initially.

i4) was

Baha

Gt 208 OE* Pt 5o linh 0.
(1)

't L - .- L
Ty oo bdai aR\waln Dreoredt

ey gt L LN

L - T wl

(2) St TN 4 .:;g"j 4% -..-"&La..r.,:i-i
(T e T i

[N Foeme e &t 500 iz b

- kL s : K8 wr
N AL - ol
mabns Ty w Sl L b i T T
g W

W) | PUefed® v el Felod® 3

£/
A AT

98.

99

100.

[18]

Booklet Code

The layer of the at:tiosphere where
radio waves are transmitted-from
the earth are reflected »ack.

(1) Troposphere
(2) Thermosphere
(3) Stratosphere
(4) Mesosphere

PP Dy W\ FU6Y) Hrle Heed
BPoBRacly CARF BlETeY uokns gred
=ONTRe Yeora.

(1) S Fdtiese

(2) 4.",25‘; Lt o

(31{ > wipso
L

& N £ [
) N e 7 P

Taz uppermost part of the mantle
i9/calied ....

(1) Lithosphere

(2) Asthenosphere

w3  Mesosphere

\4) Barysphere

PO oy, D 0 Y Do D
t 1} Ei{:l{ :.‘-_‘-':-';hi R

(2) ..:.:'.:T Pactiaf

(3} o8 ol

(4) 8 ncnd

The process in which the water
vapour changes into water is
called ....

(1} Ewvaporation

(2} Condensation

(3) Precipitation

(4)  Humidity

" = £ o
e G SLolapuaT U Soavhs

it o
MeTesE LRl Bl go besl,
(1) wipasse

(2) ;-;:f.,‘:-'-.-'.'-.-: .

(3)  uidrise

(4)

I

T
[
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101. The tropical deserts are located on | 104. The Solar Eclipse occuts when ...

the .... ;
(1) Eastern margins of the by e M gon: cones: I RgEheen
\ the Earth and the Sun.
continent.
(2) Northern margins of the (2)  The Earth comes in between
continent. the Sun and theMoen,
(3) ?;’:tﬁl:‘i:ﬂ margins of the (3) The Sun colnes between the
' Moon and the Earth.
(4)  Western margins of the K rth-
continent. (4) The Moon, the Farth and the
él‘:hw-ﬂ'il:ﬁ{.‘- e .’;..‘.ICL._.."’:.,J_':. 5a :':'E:' SH!’! arc ltﬂt in a Stl‘ilight Iil‘l[‘h
DEharass.

i, e
[2} HEU: tm-..-

. BTN B Saidadly s
".i} i:'é”: E-.-‘.“:-. {.1} o -5.) 'q.*:‘.:.'li.u-r ol -'.-l-lh: i FT.'
(4] htigt B Vo S L L)

et -hrdl;._-i- y
o

102. Rearing of silkworms for the

- ) - -—".‘1-'-..'.,1.11-:..*'\ L

production of silk fibre is known Snptgioie) shapenona:
Ao T peicoad, goled Batais Sebam
(1} Silviculture | e B W e L )

i ) DA L e - e i
(2) Sericulture i 4
(3) Epiculture | (d)  $rls, Soatl, B durcbiom
(4)  Aguaculture RISty Do,
B33 GG B0 Beay HRoieRs NGRS )
e, |
(1) »05ef i05. This part of the ocean consists of
(2)  208ef . Petroleum and Natural gas
(3) JhEeb (1) Continental slope
4) :=":ﬁﬂ'r_ =
(3) expabd (2) Continental shelf

103. The hardwood /trecs suchlas rose (3)  Deep Sea plain
! ny. \ prabops

wood, ebony| \_pihagany are (4) Ocean trenches
commonly grown-isi these forests,
(1)  Temperate evergrecn forests, SuSemre S Sod' tad Shosld, Mo
(2)  Tropical deciduous forests. Tocwes Shetoeas:.
(3)  Trooical everyroen forests, i
(4 lemperate dediduous forests. (1) seudvn wre
M) DEEMN IS5 WENE, 25D, SR .
o . O ’ (2) oldEH votn
ey oy iy QTR T a2 SN A e LT
(1IN 55008 E008 Inlb et (3) melwstans Seomro
L2 NN\ CiehgtiORs caSotron citivnems .
(20 Grene D S (4) Selsiisaad wmpres

L}

S | | O = i
Lon Eieelic 250 0 wilpes

(PR 008 ety ulyes
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106. The reasons for rapid growth of | 108. The Urdu poet who spoke af the
population in India. need for a ‘North-West, Indian

fe) A high birth rate. Muslim State’ is ....

(b) A relatively lower death rate.

fc)  Immigration (1) Mohd. Ali Jinnah

(1} fe)and (b) (2) Chaudhry Rahmat Ali
E‘;; ggj :::EII ?Ej (3) Maulana Azad
(4) f(a), (b)and (c) (4) Mohammad iqbal
- e e S wamy Tem " s
i ?EI—'- : F= e = wCOlwE AT s :JE_’ :-.-.::EG s i, o L e d
e /e Lo X5
(a) 0% ckare G = - 2
(b) 55 e muberoe Seo (1) Stes oy
(c) St oake (2)\ ez b 28
(1) (a) ot (b)' 3) O
(2) (a)w:atie (c) (8) S wes

{3) (b)zsssazee(c)
(4) (a), (b) Sedcis (c)

107. One of the following was not the 1719, Greenpeace movement was started
objectives of Indian National, as a-protest against ...

Congress. |

(1) To build a nationalisty

consciousness amony ¥ the

1} The American underwater
nuclear tests near Alaska.

diverse people of {(dhdia,and {2) The Bhepal Gas Disaster.
unite them.. 3) The Eoantd Pl
(2) 'To fight againgt\the liciLi:‘shl l The comstruction' of large

multi purpose dams.
Govt. [or indepenidence. PUEPE

(3) To promote democratic ideals. (4) The nuclear arms race,
{4) To create common ‘woliticat |. intensified after the end of
platform or programme Vietnam war.
i - i | - _ =
=P '
1 et A T T =
(1) poedng SebelDirdabe o (1) #2@ 5528 cody, § <2l
e Bt el Ponda i, b il
oMo AR SR T ne. i eranlzoss B use
(2)  SGalhe Shoa L0aBEete} Fowe (2) %28 ==l st tutdser.
e AT " — . i
= N i A & 2 {Ii} -l-"'r-l_":"‘-'_: ..--"'-;-L.'l- I:r-"l:...r l|'-"--l'_EE'.l Pl
{-J '-'-'-"'L- _-;I"-}-.- e ey - H;!:':.‘I - o gl :1
Salrote PR
WAY SIS IS\ rsoe  owidn (4) Zcboore diaols LU wradl cclion
#
PUIEITIS SEER a0l ormidtis 28 boe zuse.

i
R i .
SDEL Tasios BN Uuloiss,
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110. For

the first time, the sixteen

Mahajanapadas are mentioned in

these texts ....

(1) The Jainist
(2) The Greek
(3) The Chinese
(4) The Buddhist

SEF BN e DS am
S lisgredt BEarletdio nldol.

(1)
(2)
(3)
(4)

111.

i

The treaties that gave ‘Alsace and

Lorrain’ to Germany/was ..\

(1) The treaties of Paris,

(2) The treaty of Frankfurt:

(3) The treaty of Versailles.

(4) The trealy of »ﬂevrca,

G B0l Sy utho SThAVooe: =thed
eSiJourca),

(LN 05 %0l

(R Mec e 578

AR) N\$Tesds 50l

TET2L1-EM/TM

[21]
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of 1857 was ...,
(1)

112. The immediate cause for the evoll

Introduction of subsidiavy

alliance and doctrine of Japse.

(2)

Utilisation of Indian economic

resources to meet the r eeds of
the Britisirsconomy:

Introd u ction
educatini.

(3)

(4)
to> the
Canning.

af Western

Supply ol greased cartridges
sepoys by

Lord

1857 Goarosesstis BZrs >°Ums.

’ -
i N
J-I of o

e **c::a:

T e Saom

(2N To6% 0y
=0 slioes SUnEHa
(s S, Dy (S Dests
4 Aoy =
(3} b =leh bircsers P N5

(1) Two treaties of -
Government,

(2) The Prince. 2

(3) The Social .
contract.

H] The spirit of -
the laws.

B2 208 P 500 5 ..

(1) 0 2855 aig -
~ ¥

=
R T :
e ™ b o

EE

-

13. One among the following is not
correctly matched ...

John Locke

Aristotle

Jean Jacques

Rousseau
Montesquieu
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114. The languages that are considered | 117. The Kakativa ruler v/hi shifted the
as offshoots of Latin. capital city from Anmakenda to
(1) Spanish and Portuguese, Orugallu.
(2) Spanish and Germany.

1 d i
(3) Portuguese and Germany. (1) - Rudramadevi

(4) Spanish and French. (2) Ganapathideva
T 200 PN ods oieed wduom
= < (3) Prathaparudra IT
ot e SN _ P2
(1) 225, ook (4)  Rudradeva
(2) * 325, ’:"’:‘ PulPoe GhathE Wykonestel) Zesd
(3) .-".'-"-..-.._.'.....:. Wl £ oKl DAt SEGES ot

(4) >0, oo (D ~ D

115. “No taxatiﬂp '-.-.;il,]mul RIS i,
representation” was the slogan of
this revolution. (BY omptogos:

(1) The Glorious revolution
(2) The French revolution
(3) The American colonies
(4) The Russian revolution
wSouse Tmem iy e @y on| 118, With the blessings of this sage,

("3

R Harihara  and Bukkarﬂ;fulu
" founded the Vijayanagara Empire.

————— — —

-
- -
(1)  neoefio Swse |

(2) @S ;::;; ; (1) Vidyanatha
(3) €2l S 1Dsoe S . (2) Vallabhacharya
a By aga
(4) 8590 (3) Ekamranatha
116. ‘“The Pieta’, Zbz/most rémarkable (4) Vidyaranya Swamy
sculpture belongs4o. .. A _
(1) I..-e:ﬂn-!rdn Za-Vinc S s ......-fmu.:, e
(2) Raphae! STEN PRAE Do,
(3)  Adbert Durer (1) 2
g ) P
(4) AMichelange!n i
D SToons e’ 502 Teasa. (2) Bedoiees

Y N\ N B

s - y - "
) = = (3) ool
(2 AL
-l

(3h o sl (4) e Pl

P
M) ISercidt
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119.

120.

SN Doiae ol /SlEs B EhE PR LT

t-'...‘-‘:'_:k..‘-.-"-

(1) \=ENS¥

(23, wsiis (Yiddish)

(SN_ghrm

(4%, 3i=3 (Swahili)
TT-311-EM/TM

The immediate cause for the
Second World War was ...

(1) Policy of ‘appeasement’ of
Hitler.

(2) Invasion of Poland as a
punishment for refusing to
handover the port of Danzing,.

(3) Germany wanted to get back
the territories lost by them in
the Treaty of Versailles.

(4) Germany's challemge to
vengeful domination of the
victorious allies.

Colew o sl Ei;'ﬁ Roreo,
[

(1) Ireda Sacbilittos ol PSo.
— Tl
() roded Tuniy othed eSiotovd

- -
- F :
{_3}. -.l:I:\.n.'q:L-‘: :ﬁﬂa :‘3-:1 ::".-l_lﬁu =

(4) ol Fdopes, Hovy

Most of the Ashioka’s insciriptions
were written in_.....

(1) Pal scfipt

(2) Yiddishscript
(3) Brahemi seript
(4) /Syrahili seript

23]

-‘-
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121. Siksha, Kalpa, Vyakarana, Nirukta,

Chanda and Jyothishya'are......

(1) Vedas

(2) Puranas

(3) Itihasas

[4}. Vedangas

3, Sep, T, TR, G, S50 @30 ...

A3/ dhoes

) The religious leader who preached

the idea of ‘one Jathi, one God and
one Religion for all’ is ...

(1) Dr. B.R. Ambedkar
(2)  Arigey Ramaswamy
(3) Bhagyareddy Varma
(4) Narayana Guru

Sesetpoodtd o3 oo, o3 ube, o Sy
e SV (Darle SiNh Bl TBENY.
(1) =0 D.esb. 08t b

(2) 8% omeisdn

(3) DS Bt

(4) oecters Mot
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123. One of the following statements is

not correct about the Election

Commission.

(1) Article 324- of the Indian
Constitution states the
formation, powers and
functions of the Election
Commission,

(2) Elcctjc-n Commission is an
autonomous constitutional
body.

(3) The Election Commission
announces the schedule of
election.

(4) NOTA was first introduced as
an option in the state
assembly election held in

Uttar Pradesh.
St 20836 o sHnbn 3D woab

8.

(1) omcrcd™ wisd 324 & e
wogee Loyme, T Lesie
e,

(2) Jod B BolABOPd o X

© oumennen.

e

(3). e  BePee(\n¥e\ \a&Eadia

(4) For 2093 Josdder dudsdd

124. As per the 42nd amendment of the

Indian Consiitucion, thé two words
that are inc uded1nto the Preamble
of the Constivution ...

(1) ‘Sovereign’ aud/ Secular’.

(2) ‘Sovereign’and ‘Republic’

(3) <Demoecratic’ and ‘Secular’.
vAdY 7 hoecialist” and ‘Secular’.

P opieta T ‘:‘;;"‘355 425 D'.“."';-:ﬁ i
TN PolNGErEs,

(1)  udy Sola «Jiy

62) \ SR mey Leldin Nirbod’

(3) “endrgiog Sl I

(4}, «3beosr Bedo

(24]
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125. One of the followirig,is corirect

regarding the electionof the
President of India.

(1) The contesting. person._ shall
have completed. 39 years of
age.

(2) The/Eiectoral coiiege consists
of elected members of both
the Houses of Parliament and
the Staté Legislative
Assemblies to elect the
Cresident.

Tk

(o) »The-nominated members of
tne Parliament also
rarticipate in the election of
the President.

¢4)- He shall hold an office of
profit under union, state and
local government.

s 300 76" Ub CERG I35 Seweled

e
=l

(1) 233 3% ol 30 3cs tyows Jod

dodd. -

(2) %o Heeed® Dol P
'O JNeSindlh S, Jntiedd

(3) .’.‘Fﬁnhcmi‘; SOG0E  egidtes

(4) ?:E:;:i O, PR ;T:-:'-ﬂ‘_;f.tﬁ‘ TP
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126.

127.
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In this part of the Indian
Constitution, the fundamental
richts and direct principles are
incorporated ....

(1) VI and VII
(2) IVandV
(3) Il and III
(4) 1II and IV

glofa’ -Tr.",;:ﬂ:-ﬁaﬁ st ormedt o
oo Seain GG Brigres Solsitbnd

o

& o0,
(1)
(2)
(3)
(4)

VI s VII
IV 50k Vo
II sotass I
I s:0csss IV

The  Parliament  alone
smpowered to make Jaws nn these
ubjeets ...

= i
Ler

1) Defence, Currency.

2) Sales Tax.

3) Kendriva / Vidyvalayas or
Central Schools.

4) Trrigation, Police and Health

care.

5v Uagledt Dwned /ol tuwwe

19 = mo B

= hﬁ? -

-I."J -._1.-:_ e ‘.‘ .
o} '-"'1-—-1.: ) 'l-*-"-n‘

A
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128. Justice J.S. Verma Commissicnn was

129.

[25]

appointed by the ‘central
government to provide suggestions
on this ....

(1) Protect women from domestic
violence.

(2) Prevent setual assault and
abuse.

(3) Prevent— immor2) human
trafficking

(4) Proteci-thie victims of natural
disasters.

&) BoR eode MAERrnte Ddiveh So

(1) hey ol ool SowdioNs S¥re

(3) soheive o Sorel A0 QoML

(4) S50 Sotoo oo S52P00 TG,

The member of the Constitution
Drafting Committee was ....

(1) K.M. Munshi

(2) Babu Rajendra Prasad
(3) Sarvepally Radhakrishna
(4) Benegal Narsingrao .
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130. The principle / principles of | 131. A statistical tool used to/nyeasure a

Panchasheel ..... country’s overall achievemeritin its

social and economic dimensions i15...

(a) Respect for each others’

Envmig]]t}f and t&rﬁmrlal {1} GEHEIEI' I‘E]ﬂtﬁd 'd’E?E]ﬂmeﬂt
integrity. indicator.

() Non-interference in the (2) Human developrient index:
internal affairs of other (3) Multi-dimensional poverty
countries. index.

(¢) Promoting peaceful (4) The socigl progress-index.
co-existence. ¥ B3 orar\oQ¥ fogrpd' 2ol

(d) To stop the growth of GPRHBT ST Kemok s
nationalism in the Middle (1) Eo¥fonel offind Snl
East. (2) Ly wdpd

o(3) <o 3ny, HEPE BP0Y

(1) (a), (b)and (d) SUEE L et

(2) (b),(c)and(d) 132, 0ne._of _the main functions of
INABARD S ....
3 (a), (), and (c) 1) It provides loans to money
lznders & commission agents.
4) (a), (b), (c) and (d MACED g

W e ) @ o 2), It refinances the banks for
Sotle Brgefirores extending loans for
) investment and production

(@) =30 nesorstwe, FRos \Buieheie | purpose in rural areas.
2Bt Modetee. (3) It inspects all the commercial

banks.

() =55 e wobls Luitmed® e (4) It provides loans to state
Koo Sho ’ * governments for the

development of urban

(c) oot sindurn Stinstad, infrastructure.

T 3 _;.-.- e G " = =2 ';:":r a5t NABARD 1.:..‘-.-‘._':\-'. - s

(@ = ""*"*?mﬁ N i (1) 2é Tdwen, 35l DBcun e
TR Y 3wto shotes.

(1) (a), (b)Enamsdad) A2)  rhors SoorE mund, A0 Haes

L Sl 4] "l o ] = ) -
whadn UOROwTes TS Gan I

(2) MBI vl td)

Sosets $hb Lok, SSeishde.
v : { Sele. ohstsone Bl Sokls.
(3) / lay, (b7, e dc) ) Delegajeihcia SRg S -
(4) See cLoud Do efns
@y Ya), (b), fe) o0ai (d) JaedoNs M OR  BEowels
SUENPET G EEhe s,

TEI211-EM/TM [26]
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133. The amount of land operated by

134.

135.

TET-311-EM/TM

marginal farmers in India, is ...

(1) 10.1 to 25 acres
(2) 5.1 to 10 acres
(3) 2.6to5 acres
(4) upto 2.5 acres

&rols Thoe JO8° Gol 000 ...

(1)  10.1 5eed 25 JEoe
(2) 5.1 50ed 10 250
(3) 2.65x85 o
(4) 2.5 5o SUs

The cities having more than
10 million people are called as ....

(1) Metropolitan cities.

(2) Mega cities.

(3) Class | cities.

(4) Aerotropolis.

10 ZoBaaBed Dol ey &3y Sicre(Rf
Smels U¥s

(1)  2oaS"ImBesl siticres

(2) Ssituiores

(3) =L1%5n0e:

(4) S5/

One of the following is an\Iadirect
tax.

(1) Income/ Tax

(2) Capitar@2ins Tax

(3) Corperate TaE

(4) Castoms Duaty
oIS NG b,

§ 1IN G aiNGD

(2) "\ 3ud Joaiers,

V) :‘HT:';-_.»._.F :::‘--».:;':-L

(B Sy el wiistiod ool

e

Booklet Code '| A II

136. The state that is planning to shift

137.

138.

[27]

completely to organic farming hy
2015.

(1) Uttarakhand
(2) Sikkim

(3) Nagaland

(4) Odisha

2015 3 Jecliain e/ Sninas

. - [
l-l:‘\-!'-lulﬁ-! ..'u'qr-ih 0
[

(1) &sodd

(2) , 5S40

8) {<Fmreoh

(4) el

For one of the transactions, IFSC
and _/laternet facility are not
necessary.

= -
e mEe A

- A X LA
g !I‘-:'-i-

B'E Solclay wobipeo olitie

Sem &) o elles Ll
(1) NEFT
(2) RTGS
(3 IMPS
(4) USSD

One of the following is an activity of
service sector

aaaaaa

(1) Trade

(2) Rearing of cattle.

(3) Mining

(4) Agriculture

Ut 200 PG Soptermid Delnd
(1) o
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139, Amartya Sen got Noble prize for his

work on ....

(1)

Welfare Economics, Poverty
and Politieal labourism.

(2) Welfare Economics, Poverty
and Economic labourism.

(3) Welfare Economics, Poverty
and Historical labourism.

(4) Welfare Economics, Poverty
and Social labourism.

L"ﬂ =L :;1::.3 oo el :-:f.:.ﬁ Foad

s o S P
l:lu,-"‘.'t_h:‘ﬁ.: ™ e bl b n

(1)

(2)

141.

(3) #eZic oyvije, w=O0Ima Lol
oLy Sudate.
(4) ncEde egmvge, SHQ8Nse )SsOwx | 142
Sclak Sebdudo
140. Expected specific behavicuial
changes in students are calied ...
(1) Aims
(2)  Objectives
(3) Goals
(4) Educatisnal stapdsrds.
M sl (SRS N FRE SPle
(Ll Acimes
(42, om e
2)  anes
(41 2 ST
TET-21:-EM/TM |28]
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Knowledge that involves-anan’s
thinking, understanding._ “and
learning is ...,

(1) Procedural knswledge.

(2) Factual knowledge.

(3) Metacognitive Knowlenge.

(4) Conceptual knevledge.
semly S SNefFodds, efo
Fhoowrdts,  SOnTownds ]

[® =
(8)/ frsfPeii Sowchols it
(3P il aise

/The concept of ‘Unity in Diversity’
in students is the learning objective
of ...

(1} Primary stage

*(2) Upper primary stage
(3) Secondary stage
(4) Higher stage
‘ftedt D' o3 NS B @ Jow
DENLe eliah o 5.

(1) tes Sroas
(2) >0 o
(3) =2gmes o
(4) &b Paxsw
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143. Exploring knowledge with this

144,

YR D
140

creativity comes under this
approach ....

{1) Subject centred approach.

(2) Behavioural approach.

(3} Constructivist approach.

(4) Programmed learning.
CoETEEEE o DDGoxns’ il §
(1) Suohe Softhd ailitio

(2) Fuooras abnises

(3) SormiE aniice

(4) o swociont egess

‘Social Studies is the hife sfpunin
some particular plate st some
particular time’ - s ‘theVeonceépt

145.

145,

of ... |
(1) E.B. Wesley

(2)  Muffat

(3) Social Studiés commiitiee of

School Board - Victoria.

(4) Forresiex

w3 Den ZoanetALl PEh/suocined® Bass
::‘LEE,; S5Ceud\ Brossn  Pub
Sintaniy?

D) N\E.-B. 2%

(2) M

R) \Sohorew; sam S St x2od - SStaw

& V=
*311-EM/TM [29]
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Maps that explains the “depth-or
pceans are ...

(1) Ethnographical maps

(2) Vegetatian/piaps

(3) Climatic maps

(4) Eat-h'fmet ric maps

(DA DTS Yrsores

s = oy E iy £

LSy E el P e

(3 A5 oteres

(43 Botods ¢rturs

The following unit gives an

extensive knowledge to a Social
Studies teacher.

(1) Teaching unit

(2) Experience unit

(3) Resource unit

(4) Subject matter unit

PoRIT ADPnld LB LN &
wedos diorind

(1) S S

(2)  winegis ciennd

(3) =otow DS ¢
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147. The most powerful teaching | 149. Formative evaluation /consisis of

instrument in Social Studies is .... these elements.

(1) Demonstration (a) Projects.

(2) Questioning (b)  Slip tests.

(3) Projects (e} Child [?artir.matim: &
reflection.

(4) Activities (d) Writter works:

L] o i P S o [ T
b L Ty Cond” BiLsblin OGF
oy - — e Rl . I B P T I
2= LW P ] o ""E'#"IJ&-! -I».\J:-"’-;T"_l:;i.:"w-.h.q. T T e R
B, T
Id_u'l—q-r:l-l.

(1) ST
(2) @Rhetoe

(3) e

(4) ;*-."‘-‘;:.:.- 3 .
o0k TEio (LS00

l
l
I (3 Ja), (b), (d)

148. If a child eats a mango and feels/t

is tasty and generalises that all (2) (b), (d), (c)
mangoes are tasty. This Anethod-| (3) (a), (c), (d)
S ...

: (4) f(a), (b), (c):(cd)
(1) Deductive method |

(2)  Inductive method 150. The fifth experience in Edgadale’s

(3) Synthesis method cone of experience is ....
(4) Analytical method (1) Demonstrations
PO I N ’ 2) Field tri

=¥ dowes etk o0 P dosd 2): Field trips
GPPE Tol,\ WpPa Wetny Soow (3)  Exhibits

B L Ry " L i i T Sy - m—ryy ' N

GoPURT FPUESToLNGLES DRD S (4) Motion pictures

" (" SEEEE wibotss Yopapd S wnudine

(1) POV

e el W

3 (2) Fdath SEgsivs
(B)  oosies 54O (3)  user sispes
(AN ~5iy e (4) Sob S
TET-311-EM/TM [30]
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